Best Buy Project

- You must create and present a poster displaying the best buy of a product.

- You must find three ads of one particular product, in different quantities. For example, if you choose "Tide Ultra" laundry soap, you would compare the price of Tide Ultra in the 2-litre, 4-litre and 6-litre sizes and figure out the price per litre for each size. You would not compare the quantity and price of "Tide" to the quantity and price of "ABC" laundry soap, or "Tide Ultra" to "Tide Original".

- Calculate the product's unit price and indicate the best buy between the three quantities. Also calculation of the sales (GST) tax and any discount you will pay on the item and its final cost to you. Then, include two interesting facts about your product, and a summative statement about what you noticed when comparing the unit prices (if the type of packaging made a difference, etcetera).

- A quality assignment will have:


a)
a neat, easy to read title ("The Best Buy").


b)
a picture of each item with its price and quantity.


c)
a unit price for each item, including the calculations and units of measurement.

*Remember: dry weights under 1 kg are usually expressed per 100g, and liquid measurements are usually expressed per litre.


d)
the best buy shown clearly.

e)
two interesting facts (like where produced, when first produced, how much produced per day, who invented, when invented, etcetera).

f)
a summative statement about what you noticed when comparing the unit prices of the three sizes and possible reasons for their differences.


g)
an appealing overall appearance.

- All equations, facts and the summative statement must be typewritten (or -10%).

- Bonus marks will be given for in-depth facts (5%).

- This is an individual project. 

- The assignment is worth 40 marks and is due on _______________.

*Beware of products like pop that come in multi-packs. You need to calculate the total amount of product before figuring out the unit price.


eg. 
a 3-pack of 355 mL Coke cans for $1.75
(355 mL x 3 = 1.065 L)

$1.75 ÷ 1.065 L  =  $1.64/L

